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A regular pentagon in centered about the
origin and has a verlex al (0, 4).
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Find the area of each circle in If ®S has a circumference of 10m inches,
terms of = and to the nearest find the area of the circle to the neoriest
hundredth. A= (et hundreath. C = 2qr  A=Me*
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SECTOR AREA:

Find the area of the sector of
pizza. Leave answer in terms of

g =X (6)60
S=grod |

Find the area of the sector of
cake, Round to the neares!




Find the area of the segment in the image below.

Area of a segment: a segmentis a

region bound by a chord and its
correspondirlgr arc.
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Givenarc XY is 90°and ZX =8
Find the shaded area.

Find the area of the shaded region.
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RADIANS

Another way to measure angles
ed on the length of the radius.

radians to degrees degrees to radians
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areas of the sectors formed by/¢AC_B.=round to t
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vert the following radians measures to rees.
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Find the area of each sector. Round your answers to the nearest tenth,
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Find the area of each sector. Do not round.
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